2+6
4+6
7 -1
3% =
542= .
3%3 =
1+9

IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII



6-2 =......
4% 2 =
3+6=......
2%5 =

1+3

4+6
545
www.edukacja-dzieci.pl | POLUB NAS NA FACEBOOKU

IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII



" L
2 : : : : "
N . . ° . .
| 2 : : : P
I = . ° ° w
| S -
I <

o
| I_I I_I <
L2 X o * o o 7
Lo  m @\ — ™M LN — — 2
Q) =
- o
£ =
¢ - o &
3 : :
1 U 3
- L ] ] . nE

— 3

! W CcO ™N | O O | ™ 2
" < + + LN X _ <t +
o (@ < — (@ (@) — ™M
[
|

IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII



____________________________________



